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UNIT 17 QUESTIONS 16-20

LOGIC

2014A 18. The domain of the function f(z) = logs (logy(log1 (logi4(log L 2)))) is an inter-
val of length 7%, where m and n are relatively prime positive integers. What is
m-+n?

(A)19 (B)31 (C)271 (D)319 (E) 511

2006B  19. Mr. Jones has eight children of different ages. On a family trip his oldest child,
who is 9, spots a license plate with a 4-digit number in which each of two digits
appears two times. “Look, daddy!” she exclaims. “That number is evenly
divisible by the age of each of us kids!” “That’s right,” replies Mr. Jones, “and
the last two digits just happen to be my age.” Which of the following is not
the age of one of Mr. Jones’s children?

A)4 @B)s ()6 D)7 (E)S8



